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गǔणत 
Mathematics 

(211) 
िश¢क अंǑकत मूãयांकन-पğ 

Tutor Marked Assignment 
कुल अकं: 20 

Max. Marks: 20 
 

ǑटÜपणी: 
Note  : 

(i)  सभी Ĥưɉ के उƣर देने अिनवाय[ हɇ। Ĥ×येक Ĥư के अकं उसके सामने Ǒदये गए हɇ। 
  All questions are compulsory. The marks allowed for each question are given at same 

place. 
(ii)  उƣर पǔुèतका के Ĥथम पƵृ पर ऊपर कȧ ओर अपना नाम, अनĐुमांक. अÚययन केÛġ का  नाम और ǒवषय  

èपƴ शÞदɉ मɅ िलǔखए। 
 Write your name enrollment numbers, AI name and subject on the top of the first page of 

the answer sheet     
                         

1.  िनàनिलǔखत मɅ स ेǑकसी एक Ĥư का उƣर लगभग  40 से  60 शÞदɉ मɅ दȣǔजए ।                                                            2 
    Answer any one of the following questions in about 40-60 words       
 

a)  पनुीत अपने BMI को सहȣ करने के िलए Ĥातःकाल सरै करन ेजाता है। वह अपने ĤितǑदन के औसत  
कदमɉ को नोट करने के िलए Ǒकसी Ǒफटनस ऐप का Ĥयोग करता है ǔजसके एक सƯाह के पǐरणाम 
नीचे सारणी मɅ Ǒदए हुए हɇ-  

सोमवार  मगंलवार  बधुवार  बहृèपितवार  शĐुवार  शिनवार  रǒववार  
3500 3000 2700 3200 2300 2800 4000 

  
i. पनुीत के Ʈारा सƯाह मɅ चल ेकुल कदमɉ कȧ गणना कȧǔजए 

ii. सƯाह के Ǒकस Ǒदन वह सबसे Ïयादा घमूा? 
iii. सƯाह मɅ औसतन उसके Ʈारा Ǒकतने कदम चले गए?                             (पाठ-23 देखɅ) 

Puneet goes for morning walk to correct his BMI. He uses a fitness app to note down his average 
steps per  day whose results for a week are given in the table below- 

 
Monday  Tuesday Wednesday Thursday  Friday Saturday Sunday 
3500 3000 2700 3200 2300 2800 4000 

 
i. Calculate the total steps taken by Puneet in a week? 

ii. On which day of the week did he walk the most? 
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iii. How many steps did he walk on an average in a week?  (See Lesson -23) 

(b)  
x2+ 1 x −3 x3+ x2+ 1 x4+x2+1 x4+1 
4x+3 4x −3 x2 −2x+1 2x3 5x3 − x2 

 
उपरोƠ तािलका का सदंभ[ लीǔजए। एक िश¢क ने दस ǒवƭािथ[यɉ को Þलकै बोड[ पर बहुपद िलखने को कहा। 

I. Ǒकतने ǒवƭािथ[यɉ ने घन बहुपद िलखा? 
II. बहुपद x2 −2x+1 को बहुपद x+1 से भाग दȣǔजए।     (पाठ-3 देखɅ)  

  
x2+ 1 x −3 x3+ x2+ 1 x4+x2+1 x4+1 
4x+3 4x −3 x2 −2x+1 2x3 5x3 − x2 

 
Refer to above table. A teacher told ten students to write polynomials on black board. 

i. How many students wrote cubic polynomials? 

ii. Divide the polynomial x2 −2x+1 by polynomial. (See Lesson- 3) 
 

2.  िनàनिलǔखत मɅ से Ǒकसी एक Ĥư का उƣर लगभग  40 से  60 शÞदɉ दȣǔजए ।                    2 
 Answer any one of the following questions in about 40-60 words       

(a)  सÉंया रेखा पर ǒबदं ुO, A, B, C, D, E और F Đमशः पणूाɍक 0,1,2,3, −1, −2 और −3 को दशा[ते  हɇ। B पर 

BB' को OB के  लàबवत इस Ĥकार खीिंचए Ǒक BB' = 1 इकाई हो। O को कɅ ġ मानकर और OB, ǒğÏया लकेर 

एक चाप खींिचए जो सÉंया रेखा को P पर काटता है। OP कȧ लबंाई को माǒपए ।        (पाठ-1 देखɅ) 

 On the number line take points O, A, B, C, D, E and F representing integer 0,1,2, −1, −2 and  

−2 −3 respectively. At B draw BB' perpendicular to OB such that BB' = 1 unit. Taking O as 
a center and radius OB' draw an arc which intersect number line at P. Measure the length of 
OP. (See Lesson 1) 

(b)  ǒबिलयड[ बॉल का पथ तीर Ʈारा  X से H तक Ǒदखाया गया  है। XY और ZH समानांतर पथ हɇ। कोण 
a, b, c, d और e का मान £ात कȧǔजए। अपनी काय[ǒविध कारण  सǑहत èपƴ कȧǔजए।  (पाठ-10 देखɅ) 

 The arrow shows the path of a billiard ball from X to H. XY and ZH are parallel path. Find 

the value of angles a, b, c, d and e. Show your working process and give reasons.                            

 (See Lesson- 10) 
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3.  िनàनिलǔखत मɅ स ेǑकसी एक Ĥư का
    Answer any one of the following
 

(a) एक चतुभु[ज ABCD मɅ, AO और 
ଵ

ଶ
(∠𝐶 + ∠𝐷)।  

In a quadrilateral ABCD, AO and BO are the bisector of 
ଵ

ଶ
(∠𝐶 + ∠𝐷).                                             

(b) यǑद  x + ଵ
௫
  = 5, तब 𝑥ଷ +

ଵ

௫య  का

 If x + ଵ
௫
  =5, find the value of 𝑥

 
4.  िनàनिलǔखत मɅ से Ǒकसी एक Ĥư का उƣर लगभग 
    Answer any one of the following questions in about 
   

(a)  आकृित मɅ, AB ∥ CD,  ∠A = 155

 
   In figure AB ∥ CD, ∠A = 155

 

) 
 

 

का उƣर लगभग  40 से  60 शÞदɉ मɅ दȣǔजए ।                                            
Answer any one of the following questions in about 40-60 words       

और BO Đमशः ∠ A और ∠B के समǑƮभाजक हɇ। िसƨ कȧǔजए Ǒक 

In a quadrilateral ABCD, AO and BO are the bisector of ∠A and ∠B respectively. Prove that 
                                                  

 

का मान £ात कȧǔजए ।    

𝑥ଷ +
ଵ

௫య  .                                                                

िनàनिलǔखत मɅ से Ǒकसी एक Ĥư का उƣर लगभग 100-150 शÞदɉ मɅ दȣǔजए  ।     
Answer any one of the following questions in about 100-150 words:     

1550, ∠E = 1350 और ∠FCD = x0 तब x  का मान £ात कȧǔजए।

A = 1550, ∠E = 1350 and ∠FCD = x0, then find the value of 
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                                                 4 

के समǑƮभाजक हɇ। िसƨ कȧǔजए Ǒक AOB = 

(पाठ-13 देखɅ) 
ly. Prove that ∠ AOB = 

  (See Lesson 13) 

    (पाठ-3 देखɅ) 

       (See Lesson-3) 

     (4)  

£ात कȧǔजए। (पाठ-12 देखɅ) 

the value of x.  
 (See Lesson-12) 
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(b) आकृित मɅ, ABC एक ǒğभुज है ǔजसमɅ यह Ǒदया गया है Ǒक 
y0। BD और CD Đमशः ∠B और 
In figure ABC is a triangle in which it is given that 
and CD bisects ∠ B and ∠C respectively. Calculate the value of x and y

5.  िनàनिलǔखत मɅ से Ǒकसी एक Ĥư का उƣर लगभग 
 Answer any one of the following questions in about 

a)  यǑद दȣ गई आकृित मɅ, DE ∥ 

In the figure, DE ∥  BC and DF

 
b) AB और CD एक वƣृ कȧ दो जीवाएँ इस Ĥकार हɇ Ǒक 

और CD के बीच कȧ दरूȣ 3 समेी है
 
 AB and CD are two chords of a circle such that AB = 6 cm, CD = 12 cm and AB 

distance between AB and CD is 

6.  नीचे दȣ गई पǐरयोजना मɅ स ेǑकसी
     Prepare any one of the project out of two given below.
 

) 
 

 

एक ǒğभुज है ǔजसमɅ यह Ǒदया गया है Ǒक ∠A = 800, ∠C = 600, ∠B = 

और  ∠C को समǑƮभाǔजत करते हɇ। x और y के मान कȧ गणना 
ABC is a triangle in which it is given that ∠ A = 800, ∠ C = 600, ∠B = 2x0

C respectively. Calculate the value of x and y.            

 

िनàनिलǔखत मɅ से Ǒकसी एक Ĥư का उƣर लगभग 100-150 शÞदɉ मɅ दȣǔजए  ।     
Answer any one of the following questions in about 100-150 words:       

 BC और DF ∥ BE तब िसƨ कȧǔजए Ǒक ாி

ி஻ 
=

஼ா

ா஻
  

C and DF ∥ BE then prove that   
ாி

ி஻ 
=

஼ா

ா஻
. 

 

एक वƣृ कȧ दो जीवाएँ इस Ĥकार हɇ Ǒक AB = 6 सेमी, CD = 12 सेमी और 

समेी है, तो वƣृ कȧ ǒğÏया £ात कȧǔजए।            

AB and CD are two chords of a circle such that AB = 6 cm, CD = 12 cm and AB 
and CD is 3 cm, find the radius of circle. 

Ǒकसी एक  पǐरयोजना को तयैार कȧǔजए । 
Prepare any one of the project out of two given below. 

 Page 4  

  

 

B = 2x0, और ∠BDC = 

के मान कȧ गणना कȧǔजए ।  (पाठ-14 देखɅ) 
0, and ∠ BDC = y0. BD 
   (See Lesson-14) 

       4 

सेमी और AB ∥CD है। यǑद AB 

           (पाठ-15 देखɅ) 

AB and CD are two chords of a circle such that AB = 6 cm, CD = 12 cm and AB ∥ CD. If the 
 (See Lesson 15)                      

 
 6 
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a)  जनसÉंया और पǐरवार कȧ आय के सबंधं मɅ अपने महुãल/ेगांव के 50 घरɉ का सवȶ¢ण कȧǔजए । 

 

पǐरवार का Đमांक  पǐरवार के सदèयɉ कȧ सÉंया  पǐरवार कȧ वाǒष[क आय (₹लाख मɅ )
1   
2   
   
   

50   
 

(i)  बारंबारता का उãलेख करते हुए पǐरवार के सदèयɉ स ेसबंिंधत आकंड़ɉ को सारणीबƨ Ǿप मɅ Ĥèततु कȧǔजए । 
(ii)  औसत पǐरवार आकार कȧ गणना कȧǔजए । Ǒकतने पǐरवार औसत पǐरवार आकार स ेऊपर हɇ? 

(iii)  शीष[ 10 कमाई करने वाल ेपǐरवारɉ के िलए बार Ēाफ बनाइए ।        (पाठ-24 देखɅ) 
 

a) Conduct the survey of 50 households from your locality/ village, regarding number of person in 
family and family income. 
 

S. No. of family  Number of persons  in family  Family annual income (₹in lac)
1   
2   
   
   

50   
 

(i)    Present the data related to family members in tabular form mentioning frequencies.  
(ii)   Calculate the average family size. How many families are above the average family size?  
(iii)  Draw the Bar graph for top 10 earning families. (See lesson 24) 

 

(b) 
i. आयत ABCD कȧ रचना कȧǔजए ǔजसकȧ भजुा AB=DC=6 सɅटȣमीटर और AD=BC=2 सɅटȣमीटर हɇ ।  
ii. भजुा DC के दोनɉ शीषɟ से 1 सɅटȣमीटर के दरूȣ पर एक समलबं EFGH कȧ रचना कȧǔजए ǔजसकȧ दसूरȣ 

समानांतर भजुा 2 सɅटȣमीटर है  और DC से 3 सɅटȣमीटर कȧ ऊंचाई पर है ।  
iii. भजुा  FG कȧ ǒवमा के समान एक वग[ FIJG कȧ रचना कȧǔजए।   
iv. भजुा IJ के मÚय ǒबÛद ुसे  3 सɅटȣमीटर कȧ ऊंचाई पर ǔèथत ǒबÛद ुk को I एव ंj से  िमलाइए।   

िनàनिलǔखत Ĥưɉ के उƣर दȣǔजए -  
a. ǒवकण[ AC और DB कȧ माप £ात कȧǔजए। 
b. समलàब EFGH के ¢ेğफल कȧ गणना कȧǔजए। 
c. ǒवकणɟ FJ और IG कȧ माप £ात कȧǔजए। 
d. KI और KJ कȧ माप £ात कȧǔजए। 
e. ∠IKJ का मान £ात कȧǔजए।                                     (पाठ-10,11,12,13,14 देखɅ)  
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i. Construct a rectangle ABCD whose side AB = DC = 6 cm and AD = BC = 2 cm. 

ii. Construct a trapezium EFGH at a distance of 1 cm from both the vertices of the side DC whose 
other parallel side is 2 cm and is at a height of 3 cm from the DC. 

iii. Construct a square FIJG with the same dimension as the side FG. 
iv. Join I and J to the point k situated at a height of 3 cm from the mid point of the side IJ. 

Answer the following questions -  
a. Find the measure of diagonals AC and DB. 
b. Find the area of the trapezium EFGH. 
c. Find the measure of diagonals FJ and IG. 
d. Find the measure of KI and KJ. 
e. Find  the  value of  ∠𝐼𝐾𝐽.                                                                                      

 (See Lesson 10,11,12,13, 14) 


